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ماتريس   و  بوده  دترمينان صفر  است،  رديف صفر  و روش حذفي گوس  Aچون يك  ندارد  مرحله جلوتر             - معكوس  اين  از  را  جردن 

  نمي توان برد.

2-                     

T T

a
y a b f (x)  , f (x)   ,  Y   ,  F   ,  c

bx x
( ) / ( ) ( )

/ / /
F F   ,  F Y

/

   
                        

   
                                     

١ 22 2

١6 4 ١
١ ١

١ 3 ١ ١

0 2 0 25 2 ١ 2

4 ١ ١6
4 ١ 0 5 ١7 25 6 4 ١ 0 5 67

١ ١ 3
١ ١ 2 6 6 ١ ١ 2 ١9

0 5 2 0

١

j j
j

/

/
/ a a /

y /  ,  
b b x

/
/

/ / /
w ( ) ( ) ( ) /



 
 

                                                    
  

       

2

3
2 2 2 2

١

239 5
١50 564

7 25 6 67 64 ١ 47 5
١ ١ ١١5

6 6 ١9 ١5 ١5١ ١ 2 0 5
١5

239 5 47 5 0 5 ١
١6 3 4 0 0 028

١5 ١5 ١5 30

  

  


